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PART A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76-

717-

78-

79-

80-

81-

82-

83-

84-

85-

86-

87-

If I attempted to say how I desired to spend my life in the past, it probably ............ those of my readers
who are somewhat acquainted with its actual history.

1) would surprise 2) surprised

3) will surprise 4) surprises

If you buy something from a shop, a new stereo for example, you usually can’t wait ............ it in and
play some music.

1) plugged 2) plugging 3) will plug 4) to plug

The children mustn’t go near Nick’s dog. If they go near Nick’s dog, it ............ them.

1) bites 2) will bite 3) has bitten 4) bit

............ there before lunch, you would have to take the seven o’clock train.

1) Getting 2) Got 3) Get 4) To get

This is a very traditional city. Most of the clothes which the natives wear are ............ by women in their
own homes.

1) grown 2) ordered 3) woven 4) developed

When it first made its appearance, ............ energy was advertised as a clean, safe alternative to coal and gas.
1) nuclear 2) general 3) consumed 4) public

............ is the method of converting a flow of water into electricity and was first created in 1892.

1) Energy 2) Hydropower 3) Wind power 4) Digesting

They should open the National Park and let people visit it. Any decrease in tourism could have
a serious effect on the local ............ .

1) ecosystem 2) ideology 3) production 4) economy

Ever since she’s died, when someone laughs it ............ him of her laugh, when they turn their head to

the side, it would be the way she always moved.
1) hates 2) reminds 3) feels 4) believes
I think it’s very interesting that the bride is wearing a purple dress in this wedding; in my country, it’s

the ............ for women to get married in white.

1) beauty 2) custom 3) thought 4) matter

She would tell him what she thought of him and his behavior and ............ that he let the twins go with her.
1) use up 2) suppose 3) demand 4) produce

It is not necessary that one should be able to define every word and give its principal parts and its
grammatical position in the sentence in order to understand and ............ a fine poem.
1) sell 2) gather 3) take part in 4) appreciate
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PART B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which

choice, (1), (2), (3), or (4), best fits each space. Then mark your answer sheet.

There are many things we can do to save energy around our homes. Saving energy ...88... pollution
which creates a healthier living environment. There are many easy ways to save energy. For example,
you should remember to turn off the lights when you are not using them, because when electrical
devices are turned on, they ...89... more electricity. So, turn off the TV, computer, and any other
electrical device when not in use. Also, you should remember ...90... the refrigerator door open. When
the refrigerator door is left open, it has to work harder to keep the food cool. Keep the door closed and
keep the cool air in! Next point is to wash clothes at a cooler temperature. Next, if you are feeling cold,
put on more clothing ...91... turning up the heating. Also, have a shower as a substitute for a bath, this
will save a lot of hot water. As you see, there are a ...92... of ways which can reduce wasting energy.

You just need to pay attention to them.

88- 1) uses up 2) decreases 3) conditions 4) saves
89- 1) consume 2) make 3) structure 4) exit

90- 1) don’t leave 2) leaving not 3) not to leave 4) not leave
91- 1) in case 2) instead of 3) moreover 4) if

92- 1) consumption 2) type 3) variety 4) value
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PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your

answer sheet.

Passage 1:

Are all rocks the same? No way! They can be different shapes, sizes, textures, and colors. There are 3
different types of rocks that can affect what a rock looks and feels like. The three types of rocks are
sedimentary, igneous, and metamorphic.

Sedimentary rocks are a mixture of dirt, rocks, mud, shells, and other materials that are on the bottoms
of oceans and other bodies of water, and get compacted together over many years. Sometimes you can even
see different layers in sedimentary rocks. These types of rocks feel grainy, like sand, and are easier to
crumble than other types of rocks. Sometimes sedimentary rocks will have plant or animal imprints!

The second type of rock is the igneous rock. These rocks are created from magma that cools and
hardens. Many rocks start out as igneous rocks. Igneous rocks have glass crystals filled with minerals in
them. They do not usually have layers, and are very smooth.

The third type of rock is the metamorphic rock. Metamorphic rocks were once igneous or sedimentary
rocks, but have been changed as a result of intense heat and/or pressure within the Earth’s crust.
Metamorphic rocks are hard and smooth, like igneous rocks.

Just like plants and animals have a life cycle, rocks can go through a rock cycle! Many rocks start from
magma or lava, so they are igneous rocks. The igneous rocks could get broken up in a river or stream and
go to the bottom of a lake. Over thousands or millions of years, the broken-up rocks could get compacted
into a sedimentary rock. The sedimentary rock could get too hot, and change to a metamorphic rock. Then
the metamorphic rock could get covered by many other rocks and end up deep in Earth’s crust. It may
melt (go from solid to liquid) and turn into magma, and the cycle could start over again. But the rock cycle
is different than a life cycle of a plant or animal, because a rock doesn’t have to go through the cycle in
order, and it may not go through all the stages and steps.

Although there are only three different types of rocks based on how they’re formed, each type actually
has many different subcategories and other types of rock. For example, obsidian, granite, and basalt are
three types of igneous rocks. This is why there are so many different colored rocks. Many people love to
collect rocks because of the big diversity of the rocks.

93- What is the main idea of paragraph 5?
1) igneous rocks 2) metamorphic rocks 3) sedimentary rocks 4) rock cycle
94- All the following are FALSE about the passage EXCEPT ............. o
1) all sedimentary rocks look the same
2) sedimentary rocks normally get broken up in a river or stream and settle to the bottom of a lake
3) metamorphic rocks are a mixture of dirt, rocks, mud, shells, and other materials that are on the bottoms of oceans
4) igneous rocks are created from magma that cools and hardens
95- What does the pronoun “they” in the first line refer to?
1) rocks 2) shapes 3) textures 4) sizes
96- Which of the following is the best definition for the word “diversity” in the last line?
1) The fact that people or things look or are the same
2) The fact that many different types of things or people are included in something
3) A complete change in the appearance or character of something or someone, especially so that that thing
or person is improved

4) The act or process of taking part in something
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Passage 2:
Mr. Kent’s students were very concerned about a hurricane that had just happened in Mexico. It had

gotten very windy. The wind blew trees over and damaged houses. After the wind, there were heavy rains.
Houses and streets were flooded. The class spoke about what it would be like in Mexico. They discussed
how the houses, and all the things inside, would be ruined. Ava and Melanie said, “People will need clothes
and new blankets to keep warm,”

“My sister has a ton of clothes. We should send those to Mexico,” said Brett, thinking of how upset his
sister would be to come home to an empty closet. “Brett, that’s brilliant!” said Ava. “It is?” replied Brett,
who didn’t think he had ever said anything brilliant. “Yes, it is!” exclaimed Ava with excitement. “You,
your sister, Melanie and I, and everyone else in the school, can bring in our extra clothes and blankets to
send to Mexico. We all have lots of stuff, and now they need some of it.” “Let’s do it!” Melanie said. “My
mom has a whole closet full of blankets. We don’t need that many.”

The classroom was buzzing with chatter as the students were talking to Mr. Kent about how they could
collect clothes and blankets. Some kids were going to make signs that said: “Blanket Drive.” Other kids
were writing a newsletter. Everyone was going to ask their friends and relatives for old clothes and
blankets. Brett was put in charge of stacking all the clothes and blankets in the gym.

Everyone was excited, except Brett. “Am I going to have to miss recess for this?” Brett said, groaning.
“Maybe this isn’t such a brilliant idea.” All week long, students brought in clothes and blankets. News of
the blanket drive spread, and people living all over the city brought in more clothes and blankets. Even
Brett was impressed by how generous people were.

The local television station sent a camera crew to the school. The reporter wanted to know whose idea
this was. They found Brett in the gym. Behind him, thousands of blankets and pieces of clothing were
stacked almost to the ceiling. The interviewer asked Brett, “This was a brilliant idea. You must be very
proud of yourself for thinking of it.” Brett looked at the mountain of clothes behind him and then looked
back at the camera. “No, it wasn’t a brilliant idea,” Brett said thoughtfully. “We had a lot of stuff and those
people in Mexico really needed some of it. We’re just trying to help. It’s simple.”

97- All the following are TRUE about the passage EXCEPT ............. .
1) students thought the “Blanket Drive” was a brilliant idea
2) it didn’t rain during the hurricane
3) people from all over the city made donations
4) Brett’s sister had many clothes
98- Where did the kids store all the items they collected?

1) at the gym 2) in the classroom
3) in Brett’s house 4) in Mr. Kent’s house
99- What did the kids collect?
1) newspapers and food 2) blankets and newsletters
3) clothes and blankets 4) food and clothes

100- In which paragraph the idea of helping people in Mexico is first mentioned?
1) paragraph 1 2) paragraph 2 3) paragraph 3 4) paragraph 4
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PART A: Grammar
Directions: Questions 101-110 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

101- The journey took a long time because the train travelled so slowly and it was hot, and the sun shone
............ from a clear sky.

1) bright 2) brightly 3) as bright as 4) brighter
102- I hope I’ve made my idea clear. This is a statement ............ I cannot agree.
1) which 2) whose 3) whom 4) with which
103- I don’t know Vera, but my brother says Vera is the politician ............ sister once worked for Colin.
1) whose 2) whom 3) who 4) which
104- The Grand Canyon, ............ is over 200 miles long, is one of the wonders of the world.
1) in which 2) which 3) whose 4) where
105- There are many beautiful places in this town that you should see. The Lake District which has so much
wonderful scenery and ............ the poet Wordsworth lived, will not disappoint you.
1) where 2) which 3) from which 4) whom
106- There is heavy traffic in all streets today because of the heavy snow which started yesterday, so there
are delays this morning for people ............ to work.
1) travelled 2) whom travelled 3) travelling 4) having travelled
107- A man ............ was accused of housebreaking appeared in court and said he had put his arm through
the window of a house and stolen some money.
1) whom 2) whose 3) with whom 4) who
108- I had a strange dream last night. I was in a garden. It was getting ............ , and it was terribly cold.
1) tired 2) dark 3) darkly 4) hardly
109- Yesterday Henry and I had a nice lunch and some ............ conversation. He gave me a lift back to the
office.
1) carefully 2) incredibly 3) lively 4) quite
110- The reason ............ I didn’t know about Mitchell’s wedding party was that no one had told me.
1) why 2) which 3) whose 4) what

PART B: Vocabulary
Directions: Questions 111-125 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark the correct choice on your answer sheet.

111-To ...ceuueee. her point, she told a story about how her family felt when they moved here.
1) criticize 2) punctuate 3) illustrate 4) cause

112- Ethically, Hercules symbolizes the attainment of glory and immortality by ............ and suffering.
1) humor 2) finance 3) legend 4) toil

113- Although they tortured him severely, in his last moments he refused under torture to ............ his
father’s hiding place.
1) disclose 2) hide 3) resume 4) consume

114- ’m really interested in organic food and I believe it’s much healthier, so I buy my eggs from a farmer
whose chickens ............ free.
1) die 2) roam 3) comprehend 4) calculate

115- When you’re learning English, you don’t have to memorize all of the dictionary. Even if you’re native,
if you travel to a different ............ , you may find an idiom that you don’t understand.

1) nuance 2) region 3) quote 4) verse
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116- When the poet ............ over a line in the middle of a poem, someone in the audience corrected him.
1) yelled 2) argued 3) stole 4) stumbled

117- We find that very often policymakers do not choose to fund prevention methods that can benefit
............ and younger adults.

1) juveniles 2) betrayers 3) consumers 4) walkers

118- After hearing their performance of this magnificent quartet one is left dazzled, ............ , and filled with
wild emotions.
1) dazed 2) terrified 3) gone 4) lonely

119- The liberals are much less concerned with the revolutionary change in the society that the radicals
............ is necessary.

1) chew 2) exhibit 3) insist 4) detect

120- One of the most difficult tasks that any artist has is to ............ the resurrection of Jesus Christ.
1) abandon 2) depict 3) postpone 4) consider

121- The grounds for the music hall were given by the city and are perpetually ............ from taxation.
1) vermin 2) novel 3) exempt 4) site

122- We are now looking to ............ an experienced analyst to provide robust financial input into our work.
1) ruin 2) assure 3) appoint 4) prevent

123- Children who are already ............ can suffer from protein-energy malnutrition when rapid growth,
infection, or disease increases the need for protein and essential nutrients.
1) undernourished 2) lazy 3) smart 4) confused

124- While it was the ............ earthquake and the fourth worst natural disaster in history, there have been
earthquakes with considerably higher magnitudes.
1) meanest 2) most logical 3) most casual 4) deadliest

125- This is the first time we are all leaving. I think mom will ............ over our leaving this house.
1) collaborate 2) customize 3) grieve 4) take part

PART C: Sentence Structure

Directions: Choose the sentence with the best word order for each of the following series. Then mark
the correct choice on your answer sheet.

126-
1) I don’t like cafés which don’t have chairs. I’m not one of those people whose eat standing up. The other
restaurant looks expensive — one of those restaurants that charge very high prices.
2) I don’t like which cafés don’t have chairs. I’'m not one of those people who can eat standing up. The other
restaurant looks expensive — one of those restaurants charge very high prices.
3) I don’t like cafés whose don’t have chairs. I’m not one of those people whom eat standing up. The other
restaurant looks expensive — one of those restaurants which charge very high prices.
4) I don’t like cafés that don’t have chairs. I’m not one of those people who can eat standing up. The other
restaurant looks expensive — one of those restaurants which charge very high prices.

127-
1) Robin and Wendy Jackson who bought this small hotel three years ago, have already won an excellent
reputation. Robin, whose cooking is one of the reasons why the Derwent is so popular, was once Young Chef
of the year.
2) Robin and Wendy Jackson whom bought this small hotel three years ago, have already won an excellent
reputation. Robin, who cooking is one of the reasons why the Derwent is so popular, was once Young Chef
of the year.
3) Robin and Wendy Jackson who bought this small hotel three years ago, have already won an excellent
reputation. Robin, whom cooking is one of the reasons that the Derwent is so popular, was once Young Chef
of the year.
4) Robin and Wendy Jackson whose bought this small hotel three years ago, have already won an excellent
reputation. Robin, whom cooking is one of the reasons which the Derwent is so popular, was once Young
Chef of the year.
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128-
1) Aunt Joan, that is a bit deaf, didn’t hear the phone, so she missed the call which was very important to her.
2) Aunt Joan, whom is a bit deaf, didn’t hear the phone, so she missed the call that was very important to her.
3) Aunt Joan, whose is a bit deaf, didn’t hear the phone, so she missed the call who was very important to
her.
4) Aunt Joan, who is a bit deaf, didn’t hear the phone, so she missed the call which was very important to her.
129-
1) Last night I went to bed lately, and I was sleeping bad. I suddenly woke up in the middle of the night. I
went to the window and saw a ghost whose walked across the land.
2) Last night I went to bed late, and I was sleeping badly. I suddenly woke up in the middle of the night. I
went to the window and saw a ghost walking across the land.
3) Last night I went to bed late, and I was sleeping bad. I suddenly woke up in the middle of the night. I went
to the window and saw a ghost walked across the land.
4) Last night I went to bed lately, and I was sleeping badly. I suddenly woke up in the middle of the night. I
went to the window and saw a ghost walking across the land.
130-
1) The hostages must be very frightening. [’'m really confused what to do; I don’t know whether to shoot the
kidnapper whose holding the gun or not.
2) The hostages must be very frightened. I’m really confusing what to do; I don’t know whether to shoot the
kidnapper holding the gun or not.
3) The hostages must be very frightened. I’m really confused what to do; I don’t know whether to shoot the
kidnapper who is holding the gun or not.
4) The hostages must be very frightening. I'm really confusing what to do; I don’t know whether to shoot the
kidnapper who is holding the gun or not.

PART D: Language Functions
Directions: Read the following conversations between two people and choose the answer choice (1), (2),

(3), or (4) that best completes the blank in the conversations. Then mark the correct choice on your
answer sheet.

A: Hey Nicolas, what’s up with your new novel?

B: I finished it last week and gave it to the publisher.

A: ...131... boy! I’m really proud of you. I think you’re one of the best authors.

B: Thanks John, that’s really nice of you. The publisher hasn’t read my novel yet. I hope they like it.
A: I’m sure they’re going to love it. Your last book was fantastic. It was ...132....

B: Yes, it was one of the New York Times’ best seller books last year. I really tried hard for it. I had to
...133... every night.

A: You always ...134... , that’s why you’re one of the best!

B: Thanks man.

131- 1) Way to go 2) I'll say 3) I bet 4) No matter

132- 1) rounding up 2) helping out 3) chilling out 4) selling like hot dogs

133- 1) crash and burn 2) burn my fingers 3) burn the midnight oil ~ 4) burn a hole in my pocket
134- 1) take turns 2) keep posted 3) do your best 4) go red

A: How many times do I have to tell you to stop ...135... and do something for your future?
B: You and mom are so rich. Why do I have to work?
A: Because you can’t be a couch potato and dependent on us forever! You’re 21 and you’re not even
financially independent.
B: I tried to work. I went to Zed company last week. But the manager said I couldn’t ...136... and he
fired me.
A: 1 want you to go and find another job and not...137... this time. Is that clear?
B: Yes, it is crystal clear!
135- 1) fooling around 2) beating around the bush 3) taking off 4) making money
136- 1) make the ends meet  2) start over 3) load off my mind 4) deliver the goods
137- 1) give it a ring 2) blow it 3) sell out 4) live with it
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: Oh, Kate has left the keys of her office in front of the mirror.
: You should call her. She may need them tomorrow morning.
: But she left two hours ago. Isn’t she asleep by now?

: No way! She can’t be asleep. She’s a real ...138....

B: Definitely. ...140... she’s up. It’s better to call her right away.

138- 1) night owl
139- 1) start from scratch
140- 1) Take your time

2) cheap person
2) screw up
2) Rest assured

PART E: Cloze Test

3) bookworm
3) stay up

3) Lend a hand

Obj i pazio pasjlgs Jlgw

: Yes, but she has to wake up at 5:00 AM tomorrow morning. She won’t ...139... tonight.
: No matter what time she has to wake up in the morning, she never goes to bed before midnight.

4) early bird
4) lighten up
4) Knock yourself out

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space.

Then mark the correct choice on your answer sheet.

Dragons are one of the best-known mythological creatures. Ancient cultures ...141... wrote about these

fire-breathing, mythical animals. Usually the beasts ...142..

massive claws. ...143... fly, but they could also ...144... fire.
In some cultures, the dragon was portrayed ...145... . Heroes of Greek and Roman myths were often
portrayed in battles ...146... dragons. ...147... , in other cultures, the dragon was ...148... . In ancient

China, for example, the dragon was seen as a symbol ...149... good fortune, ...150...

. wings, reptile-looking features, and

, and happiness.

Dragons are still used as symbols today. They ...151... . Many types of children’s toys ...152... . Some
mythological ...153... are only mentioned today ...154... someone is studying ancient cultures, but the

dragon ...155...

forgotten.
141- 1) world thoroughly

3) throughout in world
142- 1) described as having

3) were describing to have
143- 1) Not only they could

3) Not could they only

144- 1) sneeze 2) cease
145- 1) as a monstrously evil
3) as an evil monster
146- 1) flighting 2) fighting
147- 1) However 2) Anyway
148- 1) a symbolic good 2) a symbol of good

149- 1) denouncing 2) compromising

150- 1) propriety 2) wealth

151- 1) appear in everythings from cartoons to jewelries

into modern-day culture. The dragon is one myth from the past that will not be

2) throughout the world

4) through in the world

2) were described as having
4) had been described to have
2) They could only not

4) Not only could they

3) freeze

4) breathe

2) as monster as evil

4) such a monstrous evil

3) igniting
3) Moreover

3) symbolic of a good

3) representing
3) density

2) have appeared on everything since cartoons to jewelry

3) are appear on everything from cartoons to jewelry
4) appear on everything from cartoons to jewelry

152- 1) feature various types of dragons
3) feature a variable type of dragon
153- 1) creators 2) creations
154- 1) also 2)if
155- 1) has infused itself 2) itself has infused

4) abandoning

4) Indeed

4) a symbolic of good
4) interpreting

4) priority

2) featuring various type of dragons

3) creatures
3) but

3) has its own infused

4) are featured with various dragon types

4) recreations
4) maybe
4) has infused its own
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PART F: Reading Comprehension
Directions: In this part of the test you will read three passages. Each passage is followed by five

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your
answer sheet.

Passage 1:

Did you ever go far out into the great ocean? How beautiful it is to be out at sea when the sea is smooth
and still! When a storm approaches, the scene changes. The heavy, black clouds appear in the distance and
throw a deep, long shade over the world of waters. The captain and sailors soon see in the clouds the dark
signs. All hands are then set to work to take in sail. The hoarse notes of the captain, speaking through his
trumpet, are echoed across the ship. They’ll be happy if all is made snug before the gale strikes the vessel. At
last, the gale comes like a vast moving mountain of air. It strikes the ship. The vessel heaves and groans under
the dreadful weight and struggles to escape through the foaming waters. If she is far out at sea, she will be
likely to ride out the storm in safety. But if the wind is driving her upon the shore, the poor ship may hit the
rocks.

Once there was a ship in a storm. Some of her masts were already broken, and her sails lost. While the
wind was raging, and the billows were dashing against her, the cry was heard, “A man has fallen overboard!”
The rescue boat was lowered quickly, and it was soon seen bounding on its way over the mountain of waves.
At one moment, the boat seemed lifted to the skies, and the next, it sank down and appeared to be lost beneath
the waves!

Finally, the man was found. He had almost drowned, but he was taken on board, and now they made for
the ship. The ship rolled so dreadfully that it seemed certain the boat wouldn’t make it to the ship. Now, what
should they do? The captain told one of the men to go aloft and throw down a rope. This was tied fast to the
boat, and when the sea was somewhat calm, the rescue boat was hoisted and landed on the ship with a
dreadful crash. It was a desperate way of getting on board, but fortunately everyone was safe. On the
dangerous points along our seacoast are lighthouses which can be seen far out at sea and serve as guides to
ships. Sometimes the fog is so dense that these lights cannot be seen, but most lighthouses have great fog bells
or fog horns; some of the latter are made to sound by steam and can be heard for a long distance. These bells
and horns keep sounding as long as the fog lasts.

There are also many life-saving stations along the coast where trained men are ready with lifeboats. When
a ship is driven ashore, they at once go to the rescue of those on board, and this way many valuable lives are
saved. A sailor’s life is a very hard one. Our young friends owe a debt of gratitude to those whose home is
upon the great waters, and who bring them the luxuries of other countries.

156- Why is it safer for a ship to be in a storm when it is far out at sea?
1) Because the sailors are far from their family so they won’t worry them.

2) Because the sharks in the middle of the sea may help the ship.

3) Because there are no rocks or shoreline for the ship to crash into.
4) Because the compass works better there.
157- Based on the short story, what is a gale?

1) It’s a strong wind. 2) It’s an enormous mountain.
3) It’s a huge rain. 4) It’s a big ship.
158- What does the pronoun “they” in the last paragraph refer to?
1) lifeboats 2) ship 3) valuable lives 4) trained men

159- Why do lighthouses use fog bells?
1) Because using fog bells is a rule for every lighthouse.
2) Because sometimes the fog is so dense that the lights cannot be seen.
3) Because people who are in charge of checking lights may fall asleep.
4) Because some of the people who are working there are blind.
160- The word “approaches” in line 2 could be best replaced by ............ .
1) appears 2) shuts down 3) comes near 4) strengthens
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Passage 2:

Have you ever boiled water? Almost as if by magic, applying enough heat from the stove burner causes
the water to boil and ultimately change state from a liquid to steam, the gaseous state of water. The stove
derives its heat energy from natural gas or electricity while microwave cooking relies on electromagnetic
energy to change the state of food. Water boils because heat energy was transferred from the heat source to
the water. When sufficient heat energy transfers from one substance to another, it causes changes in the state
of matter. The three classical states of matter are solid, liquid and gas.

Conduction is the passage of energy through something. Heat energy always moves from substances with
high heat energy to those of lower heat energy; the laws of physics state that heat transfers from warmer
matter to cooler matter. If you think about it, these laws of physics explain why your skin burns when you
touch a hot pan on the stove or dish that’s just come out of the oven. Metals are good conductors of heat
which is why metal pots are used extensively for cooking on the stove. Of course, metal cookware is not
suitable for microwave cooking. Ceramics are also good conductors of heat, which explains why early
civilizations made their cookware from fired clay which creates a type of ceramic material. Conversely,
ceramic floor tiles are ideal for flooring in warm climates. Heat flows from warm human feet to the cool tile;
the transfer of heat out of the body makes a person feel cooler.

Insulation prevents or reduces the conduction of heat. A wonderful example of insulation is a polar bear’s
fur. A polar bear has two layers of fur. The dense inner layer which preserves body heat lies next to the bear’s
black skin. The dark skin naturally absorbs rays from the sun, adding to the bear’s warmth. The outer layer
of fur, called guard hairs, consists of hollow hairs that are essentially filled with air. Since air is a poor
conductor of heat, the guard hairs also help to keep the polar bear warm. Humans utilize the insulating
property of air when they dress in layers during cold weather.

161- Heat energy ............ 5
1) moves from high heat energy to low heat energy

2) moves from low heat energy to high heat energy

3) moves in both directions

4) doesn’t maintain equilibrium
162- All the following are TRUE about the passage EXCEPT ............ .

1) microwave cooking utilizes electromagnetic energy

2) metal cookware is suitable for microwave cooking

3) ceramic floor tiles are an example of conduction

4) dressing in layers of clothing in cold weather is an example of insulation
163- Which of the following is a good conductor of heat?

1) air 2) wood
3) polar bear 4) metal
164- Where do you think this passage may have been published?
1) in a social encyclopedia 2) in a trade journal
3) in a school book 4) in comic books
165- The word “which” in line 13 could be best replaced by ............ c
1) whom 2) whose

3) that 4) without which
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Passage 3:

One day a ragged man was creeping along from house to house. He carried an old wallet in his hand and
was asking at every door for money to buy something to eat. As he was grumbling at his misfortune, he kept
wondering why it was that folks who had so much money were never satisfied and were always wanting more.
He thought of a man who was a good businessman, and he worked very hard and made himself wondrously
rich a long time ago. Had he been wise, this man would have used his fortune to take care of himself and his
family. What did he do instead? He wanted more money. He built ships and sent them to sea to trade with
foreign lands. He thought he would get mountains of gold.

However, there were great storms on the water; his ships were wrecked, and his riches were swallowed up
by the waves. Now all his hopes lie at the bottom of the sea, and his great wealth has vanished. “Men seem to
never be satisfied unless they gain the whole world”, the poor man thought. “As for me, if I had only enough
to eat and to buy clothing, I would not want anything more.”

Just at that moment, Fortune came down the street. She saw the poor man and stopped. She said to him:
“Listen! I have long wished to help you. Hold your wallet, and I will pour this gold into it, but only on this
condition: all that falls into the wallet shall be pure gold, but every piece that falls upon the ground shall
become dust. Do you understand?” “Oh, yes, I understand,” said the poor man. “Then be careful,” said
Fortune. “Your wallet is old, so do not load it too heavily.”

The man was so glad that he could hardly wait. He quickly opened his wallet, and a stream of yellow
dollars poured into it. The wallet grew heavy. “Is that enough?” asked Fortune. “Not yet.” The poor man
said. The beggar’s hands began to tremble. Ah, if the gold would only pour forever! “There, it’s full,” she said
to him, “the wallet will burst.” “But it will hold just a little more!” the man answered. Another piece was
added, and the wallet split. The treasure fell upon the ground and turned to dust. The man had nothing now
but his empty wallet, and it was torn from top to bottom. He was as poor as before.

166- Why did the businessman lose all his money?

1) A robber stole it from him. 2) His ships sank at sea.
3) His treasure turned to dust. 4) He gave it all away to the poor.
167- Which word best describes the poor man?
1) greedy 2) happy 3) wise 4) weak
168- Why do you think Fortune gave the gold to the poor man?
1) To get rid of some gold 2) To teach the man a lesson
3) To reward him 4) To make him the richest man in the world

169- Which of the following is TRUE about the passage?
1) The poor man’s wallet was fancy.
2) The poor man learned a lesson from the businessman’s story.
3) Fortune tricked the poor man for money.
4) The poor man could get rich if he didn’t ask for more and more.
170- Which of the following is the best synonym for the word “vanished” in line 9?
1) risen 2) controlled
3) disappeared 4) stolen
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